Y7 Sets and Probability
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Set: collection of things

I?gkamﬁ ;I dttfwgsietnﬂts be abke o Element: each tem in a set is called an element
Herpret and create Ve dsgrans htgrsectm the ouer'.app.mgj part of a Vern diagram (OND N)
Union: two ellipses that join (0R L)
Understand and use. the union of sels Mutualy Exclusive: everts that do not cccur at the same. time

Probabiity; ikelhood of an event. happening

Bias: i bult-n exror that makes dll vaives wrong (nequall by a certan amount, e a weighted dice
Fair: there. & zero bios, and dl cutcomes have. an equd lkelhood

| | Random: something happers by chance and s unatle to be predicted

Generate sampk. spaces for singe events
*  (Cdculate the probabilty of a single event
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* Understand and use the probabilly scale :
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¢ Understand and use. the infersection of sets |
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| dertify and represent sets
!

| Interpret and create Viern diagyams ” Intersection of sets ¢

A 8
g | Eements v the itersect
HD ) Mitually exclsive sefs I ments n the intersection are
Q Q The two sets have rothing n common 1| nsel AONDsel B — |

The universal set hos this symbol & — this means
EVERYTHING i the Vern diggram i n thes set

No overep : : The rotaton for ths s 4 N B
0 set is a collection of things — you write Union of sets £ 5 Il
sets inside. curly brackets { } The twio sels have some elements @ Il .
& = {the rumbers between | and 15 inclsive }
n common — they are placed n
the. ritersection Il A - {Mitipks of 5} B = {Mulligs of 3}

& = {the rumbers between | and 50 nclsiet
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My sets con include every numper between | |
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A = {Square. numbers}
A ={149 1625 3649

1 The eemertn ANBis B
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I 0Ol of set B is also in Set 0 so 1

| the elipse fits reide the set b
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The. box
Qround the. outside of every Vern diagram wil be a box If on [ b this example there s only one
Qll the. rumbers n set A are square. number element is ot part of ary set i placed outside an ellpse bt || number that is both a muttiple of 3
and between | and 50 risde the box I and a mullivle of 5 between | and 15
e - I |
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Probability of a single evert | The probabilty scale Sum of probabilties
@~ Probbly - rurber of trmes event happers I I I I I Probabilty is alwaus a vale between O and |
| = tolal rumber of pessibe outcomes Impossible Ever chance. Certain .
V4 4 PlBie) - 4 €—=There are 4 ble sectors Oor 07 05’% or 507 lor 1007 The probabilly of getling a bue bal i <

Rl [ «.The probsbity of NOT g2tting a ble bal & =
e T Ay 0T ol
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I PPIMIHII = : | The more likely an evert the further up the probablity &~ | The sum of the probobilties s | I
| Flewen 3 1 vill be 1 companson to another event I |
I Probabity con be a fraction, decimdl or percertage | | I A (vl e probutity coser to ) [ |
| ual)&J | | / 0 [ The table shows the probabity of selecting a fype of chocolate |
I | L I I | |
I Dark Milk White
|4 -40 -040 -40r :| — LT 015 035 |
I 0 00 | There are 2 ' J l |
| | | prian 2 There dare. 5 posstle cutcomes 1 Plwhte chocolate) = |— 015 — 035 I
| Probabilly ' abaus a vabe. betvieen 0 and | ‘ : | Yelow bals, so So 5 ntervals on this scae, each 1 "0 |
I | hey have the interval vabe s = [ I
o Nsmeprowoity Al ___ '

Curiosity Compassion Courage




